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which has the higher buoyant force?. . _ : :
fluid, therefore their buoyant force is the same.

. A 100-cm’ block of lead that weighs 11 N is carefully submerged in water. One cm’ of water weighs 0.0098
N.

What volume of water does the lead displace?
. How much does that volume of water weigh?

. What is the buoyant force on the lead?

. Will the lead block sink or float in the water?

. The same 100-cm’ lead block is carefully submerged in a container of mercury. One cm’ of mercury weighs
0.13N.

‘What volume of mercury is displaced?

. How much does that volume of mercury weigh?
. What is the buoyant force on the lead? .

. Will the lead block sink or float in the mercury?

. According to problems 2 and 3, does an object’s dcnsny have anything to do thh whether or not xt wnll floa
ina partxcnlar lxqmd" Justify your answer. 5

. Based on the table of densities, explain whether the object would float or sink in the following situations:

gasoline 0.7
gold 19.3
lead 13
mercury 13.6
molasses 1.37
Paraffin(wax) 0.87
platinum 214

A block of solid paraffin (wax) in mélasses. .
. A bar of gold in mercury. £

A piece of platinum in gasoline.





